abe)s Jeaul| jenuep

x x

x
N

XYZ

Goniometer

Rotary

Accessories

Linear
Ball

Cross
Roller

Dovetail

O]

N
o
=
=
D

70

[]
®
o

| Manual Stage

X-axis Long Stroke Slide Guide Stage [180: B15-150

B15-150

M Long stroke stage.
W Optimal control system for heavy weight, big size and optical system.
W Adjustable travel distance by changing a stopper position on the side.

SPEC

Model B15-150
(Opposite hand) B15-150R
Stage table size 80x80mm
Travel distance 128mm
Travel distance per rotation of knob 24mm
Guide Slide guide
Load capacity 15kgf [147N]
Travel accuracy Straightness —
Pitch 10.6N « m
ﬁg)nv::r?tle load for Yaw 75N - m
Roll 115N « m
Parallelism 50pm
Motion parallelism 25um
Weight 0.9kg
Main material—Surface finishing Aluminum-Black alumite processing
Provided screws (Hex socket screws) 8 of M4—10




SURUGA BT
SEIKIF ik

abels apinb apis

Dimensi
B15-150
8-4.5THRU ¢ 8C'BORE 30 75 80 75 10
(For M4 bolt holes) 70
5.5 25_25
§ I I 9] ﬁ
= + ¢ <
83
O]
o ¢ ¢ ;[
+ ¢ <
i R @
Clam 12-M4 6 DP
Feed Knob 17-M3 6 DP Stopper
(For stopper)
= = l e =
L) - + e ¢ & & +
10]] | 70 | 70 70 |
3 P14X16=224 I3
B15-150R
3 P14X16=224 3
10 i 70 i 70 i 70 ‘
U_')L fs b e ¢ o + 4le & ¢!
8 == =1
[
Feed Knob 17-M3 6 DP Stopper
(For stopper)
Clamp 12-M4 6 DP
&
_ o 5 }_?E[
FpS
s & &
| | | 44 @
25| 25
70
8-4.5THRU ¢ 8C'BORE 30 75 80 75 0

(For M4 bolt holes)

x
=)

3.
=
£

I><
N

Horizontal

Goniometer

Accessories

Linear
Ball

Cross
Roller

Dovetail

=]
-
Q

[]70



o
S
=
2

XYZ

Goniometer

Rotary

Accessories

Linear

Ball

Cross
Roller

Dovetail

80

| Manual Stage

Z-axis Mount: B34 (140x200)

B34

Dimensional outline drawings

B34-N

CAD
3D-2D

SURUGA
SEIKIPI/

M Optimal control system for heavy weight.
W 3mm per handle rotation.
B34 has anti-vibration mechanism with

special rod.

B34

¢ 50

-

A
L"{ Clamp

3 ¢ © 9 @
Nolo
‘LE wn
¢ & & & | 127THRUQ 11CBORE
3 (For M6 bolt holes)
o © © @/
B |50 [ 50 | 50
200
52525255 %5 18 12 e
i j@
L]
43-M6 'ﬁ Tﬁ —l
) [l I
% 6 4 b6 & o o
fe]
o T
o 6 6 6 4 b 6 6 b
R 4 ¢ 446444 g
2 St e ¢ ¢ o 6 0 6 o
~ K" g b b & o 6 & & &
8 ! =
=
2 $38
&
{
)
&
o) — !
; : : :
(35) 200 (35)
Model B34 B34-N
Stage table size 140x200mm
Travel distance 234mm
Travel distance per rotation of knob 3mm
Guide Shaft
Load capacity 15.0kgf [147N]
Weight 10.3kg 11.3kg

Anti-vibration function

With anti-vibration function

Without anti-vibration function

Main material — Surface finishing

Aluminum-Black alumite processing

Provided screws (Hex socket screws)

6 of M6—12




Laboratory Jack: B35 (120x180/80x120)

B35 B35-N

SURUGA Y
SEIKIFF ™ Lk

M Optimal control system for heavy
weight.

WApprox.3mm~~5mm per handle
rotation

M Can be fixed strongly by a clamp.

Dimensional outline drawings

-
Y
E.
(2]
=
H I

B35 | B35-N
180 61
20
70 120 42
25 25
70
Clamp
4 25_ 25 Clamp
5 4 —* } s
- > a
O
S b 3 S * &
— | N~
& S e | \JHL -
s ﬁ# ¢ &> *¢ N._12-M4 6 DP
A | - T
~— [ 16-M412DP Horizontal
o 8 3 Goniometer
8 2
z 3 Handle
8
,,‘.‘,,",‘_‘ ;
=halg 50
.
8s - Accessories
S
3
* & b ¢ TR m s, 11O BRE Linear
45T o s, 68 S0 m {For MG bolthols) Ball
(For M4 bolt holes)

Cross

- Roller
*0n the structure of the product, it will vary the amount

of movement by the position of the table.

From the bottom to the| From the top
Model top to the bottom
B35 Approx.7.3mm Approx.3.4mm
Dovetail
B35-N Approx.4.2mm Approx.2.2mm

SPEC

Model B35 B35-N
Stage table size 120x180mm 80x120mm
Travel distance 70mm 40mm
Travel distance per rotation of knob Approx.5mm Approx.3mm
Load capacity 10.0kgf [98N] 7.0kgf [68.6N]
Parallelism 200pm 200pm
Weight 3.5kg 1.25kg
Main material — Surface finishing Aluminum-Black alumite processing

Provided screws (Hex socket screws) 4 0f M4—12, 4 of M6—12 | 4 0of M4—10

0 7 S
&



yun abejs jenuep

N

NN

Goniometer

Accessories

)

=l

o S
=
&

175

| Manual Stage

Multi-axis Stage Unit

M There are variety of stage unit.

Itis easy to select.

XYO unit

B210-60CN  ©XYunit

B230-60N  XYZOz unit

B240-60CN  XYZOxBy unit

B270-60C-L

SPEC
No. | E Model caL;?:gty TaI;IeT‘s)Bﬂace i | External dimension (mm) Cr?,?é‘?.Zﬁf Lo

(kgf [N]) [ Size (mm) (mm) W D H | High(mm) XY 7 Ox 0y 0z
1 B210-40CN 09188] | @38 |32x32| 985 | 809 | 42 | — |EAIC | — — B
o || 210600 271264] | 960 | 50x50 | 1025 | 979 | 47 | — (BB | — — BN
3| | s20-socw 350343) | 085 |70x70 | 151 1317 | 47 | — |B23BOC | — — BN
4| 3| B210-t00n | 35 [43] | ®100 | 90x90 | 1525 | 1517 | 42 | — | B2 - — | oo
5 | B220-100CN 6.0[58.8] | ®100 | 90x00 | 161 | 151.7 | 50 — 3%7210992 — — — g4r>7.é1-?%N
6 | B230-38N 09[8.8] | 25%25 | 32x32 | 68.2 | 73.9 | 50 — g%‘zﬁggﬂ — — — g‘gf%’\iw
7| | s2so-son 10[9.8] | 40x40 | 50x50 | 985 | 919 | 47 | — |BAAC | — — BN
8 B240-40AN 07168] | @38 |32x32 | 1122|1168 | 82 | — |E2AOR IBSIAGR 1 — B
o || sosoeom 170166) | @60 | 50«50 | 1385 | 1355 | &7 | — |BE3EON \BSSEOR | — — o
E ) B240-80AN 23[225] | @85 | 70x70 | 2065 | 1957 | 102 | — |SATEOL (BSSECE 1 — N
1 B240-40CN 07168] | @38 |32x32| 985 | 958 | 82 | — |B23A0C IBSIAGR 1 — B
12| 2s0-600n 170166] | 960 | 50x50 | 1025 | 1033 | 87 | — |B23EOC |BSIEOE | _ — BN
13| Boa0-800n 231225] | ¢85 | 7070 | 151 |1377 | 102 | — |B23B0C |BSTEOE | —
14 B250-400-L 03[29] |40x40 | 32x32 | 985 | 96 | 97 | 25 |EAIA0C |PS3ION | BN | eotawN | —
15| | sosoaocw | o2rie) |aoxdo | 32xs2| 985 | 96 | 102 | 40 B | s | b AN | BotaaN | —
16| | BosoeocL | 0767741 | 60x60 | 50x50 | 1025 | 103 | 107 | 35 i | e ott2 o2 ey | epoay | —
17 B250-60CW | 09[88] | 60x60 | 50x50 | 1025 | 103 | 102 | o (BP0 \BSSEOR | BIVEON | BoeNN | —
18| 5 | Boro-0c 05049 | 4040 | 32x32 | 1005 | 965 | 102 | 4o |BZ A0 [B3IA0N | BOEADC | EaMC| —
19| | seroaocw 0549] | 40x40 | 32x32 | 1005 | 965 | 102 | 60 |B2340C |B3IAON | BSGAOLC | BEAMC) —
w0 | sorosoct 141137) | 6060 | 5050 | 1135 | 109 | 112 | 5o |B23B0C |BITEOR | BIGONC \BoEENC| —
21| | morosocw | 1471371 | 60x60 | 50xs0 | 1135 | 109 | 112 | 75 B | b0 | oG | SoaoNC | —
w0 || seroeocT 141137] | 60x60 | 5050 | 1135 | 109 | 112 | 100 |B2350C |BITECN | BGGONLC ) BSESMC |  —

3% Size might be changed due to micrometer travel range.

Plese feel free to contact us

TEL: +81-3-6711-5014

E-Mail: e-ost@suruga-g.co.jp

FAX: +81-3-6711-5021




SURUGA
SEIKIP»/

I B230 series (B230-38/60CN)

Dimensional outline drawings

B210 series (B210-40/60CN)

MB210,220 series
(B210-80/100CN/B220-100CN)

M B240 series (B240-40/60AN) I WB240 series (B240-80AN) I WB240 series (B240-40/60CN)

Hun abejs jenuep

XYz

Horizontal

Goniometer

Rotary

Accessories

HREHE RS RENNE




IEEEIII —

N
=]
=
=
D

i
XYZ

| Manual Stage

Micrometer Head (Maintenance parts)

M Micrometer head
B80-1

M Micrometer head
B80-2

M Micrometer head
B80-3

M Micrometer head
B80-4

1 scale=10um =§ MEP=0.5 g
< g 3 M6P=0.5 .| 1scale=10um 2
RS
SR3
- SR4 . \
® —
© ! f
2| 3] %‘ ‘
o 2L
4.25)| |4 3.5
5.75 5.75 36.7
Stroke (mm) +3.25 Stroke (mm) +3.25 Stroke (mm) +3.25 Stroke (mm) +3.25
Minimum scale (mm) 0.01 Minimum scale (mm) 0.01 Minimum scale (mm) 0.005 Minimum scale (mm) 0.01
Screw pitch (mm/1 rotation) 0.5 Screw pitch (mm/1 rotation) 0.5 Screw pitch (mm/1 rotation) 0.25 Screw pitch (mm/1 rotation) 0.5
Weight (kg) 0.01 Weight (kg) 0.03 Weight (kg) 0.03 Weight (kg) 0.01
W Micrometer head M Micrometer head M Coarse-fine micrometer M Degimatic micrometer
B81-2 B82-1 B83-1 -

Goniometer
M9.5P=0.5 g M9.5P=0.5 M9.5P=0.5 M9.5P=0.5 Fine motion 1 scale=0.5um M9.5P=05 29.5 127125
°7 - - 8 2 14569 1scale=10um
Rotary | 1swe=T0um M9.5P=0.5 3 1 scale=10um e = Coarse mofion 1 scale=10um
M9.5P=05 B < o B2l ] =
2 = S @ =
RSy
o 8oty 2o v =1 ap S\ N = 4l
oL — s 50 g S AR sl s
4 9 L =
A : - 11L 55 M.@ 14.5‘6 ‘ 9 s s o
ccessories 585 S 955 :

Stroke (mm) +6.5 Stroke (mm) +12.5 Stroke Rough (mm) +6.5 Stroke (mm) 0~25

Minimum scale (mm) 0.01 Minimum scale (mm) 0.01 micromotion (mm) 0.2 Minimum (mm) 0.001

Screw pitch (mm/1 rotation) 0.5 Screw pitch (mm/1 rotation) 0.5 Minimum | Rough (mm) 0.01 Micrometer scale(mm) 0.01

Weight (kg) 0.03 Weight (kg) 0.09 scale micromofion (mm) 0.0005 Difference (um) +2

Screw pitch (mm/1 rotation) 0.5 Screw pitch (mm/1 rotation) 0.5
Weight (kg) 0.1 Weight (kg) 0.235
WMicrometer knob
B90-
32
25
2-M3 set bolt 20
(Fixed)
N3
9%,

Attachable on ¢13mm micrometer. Made by resin.
Improvement operation depending on mounting 30mm micrometer. It can be supported long time operation.

2
177

Straight knurl P1.0



‘ Feeding Screw

M Feeding screw
B85-1

M Feeding screw
B85-2

MFeeding screw
B85-3

MFeeding screw (Fine pitch)

B86-1

Stroke (mm) +6.5 Stroke (mm) +3.2 Stroke (mm) +12.5 Stroke (mm) +6.5
Screw pitch (mm/1 rotation) 0.5 Screw pitch (mm/1 rotation) 0.5 Screw pitch (mm/1 rotation) 0.5 Screw pitch (mm/1 rotation) 0.25
Weight (kg) 0.03 Weight (kg) 0.005 Weight (kg) 0.05 Weight (kg) 0.03

MFeeding screw (Fine pitch)
B86-2

M Feeding screw (Long pitch)
[3}

MFeeding screw (Long pitch)
B

M Feeding screw (Handled by hex wrench)
B88-1

=z RNE x
Ny S9110SS300Y
g 8

Goniometer
SR11 p! M3 P=0.25 S M6 P=1.0 p (3) Rotary
: s — s s =1. M95P=05 o3| Clmp(M3)
= SR3 hss _ 3
R | e L 1] O] ) WSS g5 \°| [ Meels 1
55 05 155 %]L ) ﬁ[E = ‘N-I {é}
3| [7 16 © : ° = <
0 20 165/ 20 b |45 5l )
20 3 53.5 36.5 145 )
23 90 a0 Accessories
Stroke (mm) +3.2 Stroke (mm) +6.5 Stroke (mm) +12.5 Stroke (mm) +6.5
Screw pitch (mm/1 rotation) 0.25 Screw pitch (mm/1 rotation) 1.0 Screw pitch (mm/1 rotation) 1.0 Screw pitch (mm/1 rotation) 0.5
Weight (kg) 0.005 Weight (kg) 0.03 Weight (kg) 0.05 Weight (kg) 0.015

MFeeding screw
(Handled by hex wrench)
B88-2

MFeeding screw

(Fine pitch: Handled by hex wrench)

B89-1

WFeeding screw
(Fine pitch: Handled by hex wrench)
B89-2

M§P=0.5 ©|  Clamp(M2) e Clamp (M2)
——— 15 - Clamp (M3) 15
M6P=05 SRI.1 M3P-05 o P Meor=l5 3] P 5 3 M6P=05 SRL1 M3 P=025
© L 1 o 4 =
[ e S jetdses @) 2 SLE ks
3l |3l lafa (45) 4 |as55 @ 3 (45)
1 145
24 40
Stroke (mm) +3.2 Stroke (mm) +6.5 Stroke (mm) +3.2
Screw pitch (mm/1 rotation) 0.5 Screw pitch (mm/1 rotation) 0.25 Screw pitch (mm/1 rotation) 0.25
Weight (kg) 0.005 Weight (kg) 0.015 Weight (kg) 0.005




I g i E I I I —

Goniometer

Accessories

X

=]
o
S
&

179

| Manual Stage

/-axis

Bracket

W Z-axis Bracket

A47-1N

Z-axis bracket for []25mm stage.

W Z-axis Bracket
A4T7-4

W Z-axis Bracket
A47-2

Z-axis bracket for [J40mm linear stage. Attachable each Z-axis bracket for (J40mm linear stage.

blacket surface.

20 25 50 8
15 5 25| 10 10 | 25 40 40 9.16_ 169 i%
] | wepet 288 < 416,164 4ms || 11~
T o % Ao | o [® ® HassmRu . A
e "7707 - -¢5{ (For M2 bolt holes) L T e & (For M3 bolt holes) /}(gy | s
0 o ¥ o © 4-3.5THRU I ©
~ - , i © — — QI -
5 L e ¢ 4 - ;—é & ¢ (For M3 bolt holes) | |4 & 4| [—+w©
© i |
B e " a2 [ iy I I s 1 e
T T T l I
4 16 16 4 \ /
25,10 | & ‘*_L, $ i 35 THAU fro th oppste, 66 C BORE 40P i — Y
2 © (For M3 bolt holes) 9\ 32 91 10/16 || ¥
—[ & 425THRU m7¢ S 4-M3 4-3.5THRU 30
< (For M2 bolt holes) :74, & (For M3 bolt holes)
m‘ré &
o~

W Z-axis Bracket
A47-106

Z-axis bracket for (J40mm stage.

W Z-axis Bracket
A47-3

W Stainless Z-axis Bracket
AS47-2

Z-axis bracket for (]60mm linear stage. Attachable each

Z-axis bracket for [J40mm linear stage. Attachable each

blacket surface. blacket surface.
40 60 60
8-3.5THRU $6C'BORE 1616 10,7 4010100 51, 25 25 .15
¢ ] A o T T Trama
© (For M3 bolt holes) | o e & <
& & ol |7
© 4-M3 © &
= |t 4|
40 4-3.5THRU i A © 9 9
< k 16T 1Gi 4-M3 (For M3 bolt holes) |& & & 0 11 +le- /Q %
T[e & ¥ 4-35THRU ‘ ‘ J 8L ‘ ‘
2 (For M3 bolt holes) R e
o <1 & 4-4.5THRU
© - . ; i S Sici For M4 bolt holes)
e o 4 5 25 25 5 (
-« 32 32 w[ 1] __\ |
s o i . 20 TR & 8 L45THRUIomteooposte, 6B C BORE 50
4-3.5THRU¢6C'BORE 3.5 DP Ed (For M4 bolt holes)
(For M3 bolt holes) T ge
0 4-M4
N —
= R
w
SPEC
Model A47-IN A47-2 A47-4 A47-106 AS47-2 A47-3
Main material-Surface finishing Aluminum-Black alumite processing | - Aluminum-Black alumite processing | Aluminum-Black alumite processing | - Aluminum-Black alumite processing Stainless Aluminum-Black alumite processing
Weight 0.02kg 0.07kg 0.08kg 0.07kg 0.3kg 0.2kg
Provided screws (Hex socket screws) 4 of M2—8 4 0f M3—8 4 0f M3—8 4 0f M3—8 4 of M3—6 4 of M4—10




W Z-axis Bracket
A47-5

Z-axis bracket for (J60mm linear stage.

M4

4-4.5THRU :
(For M4 bolt holes) | :

25

25

25

80

4-4.5THRU
(For M4 bolt holes) |10

W Z-axis Bracket
A47-6/ASS80Z-1

r

For (J80mm stage.
A47-6: BSB16/For B11-80
ASS80Z-1: For BSS16-80

W Z-axis Bracket
A47-7

It becomes Z-axis stage using []80mm side pushing,
coarse motion micrometer and long stroke type (B12-
60AB),

80 u 5 1
5 70 5 5 ?\ s 8
2, 25 15| o 5
> ro—+ [ !
w fT T TEATE |1
i : % : R !
‘ e T R
; R g Brer T
4-45THRU s o 2T PO 11
=|  (For M4 bolt holes) (¢~ é 1+ _ i o 0
= S I lag || = \ e 1 =
o 4-4.5THRU il f S| BTN =
{For M4 boltholes) 15| 50 |15 151\ 50|15 i 425
6-4.5THRU
(For M4 bolt holes)
4-4.5THRU
(For M4 bolt holes)

W Stainless Z-axis Bl
AS47-3

racket

Z-axis bracket for (J60mm linear stage. Attachable each

Wl Z-axis Bracket

ASS25Z-1/ASB25Z-1

For SS stage [125mm

W Z-axis Bracket
ASS40Z-1/ASB40Z-1

For (J40mm linear stage

bracket surface. ASS25Z-1: For BSS16-25 ASS40Z-1: For BSS16-40
ASB25Z-1: For BSB16-25 For PG413
ASB40Z-1: For BSB16-40
60 1%0 5 25 102510 2.5
25 25 12 14 = - 40 2.5
| o | M6 P=1 4M3 4 32 4 145
g o #® T o [F ¢ Pfaesmru i
Q - T (e @ ¢ (ForM2bottholes)  2-35THRU = 4-3.5THRU
- s & | L . (For M3 bolt holes) ~ (For M3 boltholes)
. ¢ K Q* 3]
NS 0| 2 \4-M2 R
& & o (BT < i©
25 10 75 8 _
Il 2 « 3
o [ Ni B D 1, ocrn e e
50 ! 50 4-2.5THRU asi o
4-4.5THRU 8C'BORE 4.5 DP 60 ] €/ (For M2 ot holes) A__32 4 n 316 B
(For M4 bolt holes) .= o &
N
Model A47-5 A47-6 ASS80Z-1 A47-7 AS47-3 ASS25Z-1 ASB257-1 ASS40Z-1 ASB40Z-1
Main materia-Surfacefinising | Auminum-Bleckkmtprocessing | Auminum-Blck umite processing | - Auminum-Witecumite processing (- Auminum-Beck almite pocesig Stainless Auminum-Nit umte pocessng | Auminum-Back it pocessing | Auminum-{Whitekumi pocessng | Auminum-Blck duit procssing
Weight 0.19kg 0.29kg 0.29kg 0.41kg 0.5kg 0.02kg 0.1kg 0.1kg
Provied v (e stk e 4 of M4—12 4 of M4—12 4 of M4—12 4 0f M4—12 4 0f M4—6 40f M2—8 40f M2—8 4 0f M3—10 4 0f M3—10

> *
s
I I I E I I I e
g &

Accessories



XYZ
Goniometer

Rotary

Accessories

IEIIHI%EEIII —
=
g

| Manual Stage

/-axis Bracket

W Z-axis Bracket
ASS50Z-1

M Z-axis Bracket
ASS60Z-1/ASB60Z-1

W Z-axis Bracket
ASS70Z-1

For [(J50mm linear stage
ASS50Z-1: For BSS16-50

For [J60mm linear stage
ASS60Z-1: For BSS16-60

For (J70mm linear stage
ASS70Z-1: For BSS16-70

For PG513 series For PG615 series For PG715 series
ASB60Z-1: For BSB16-60
50 60 70
5 10 8 95 5 50 5 25 o 60 5 25
30 1 ho “Mlas 4-M4 2 14 [las 4-M4 40 15 | 14.5
4-M3 Wk H
4N 1 _ =
] [Te) B Fo- =
7 P 4-4.5THRU A P 4-3.5THRU
A35THRU (Fo M bot ) do
3 (For M3 bolt holes) Se
i S o 3
23 %F ‘ LS
At ool 5
i H = \ c'e[ 15
5 1l a0 ] 5 |50 5 1225 | S
57 42 \
4-3.5THRU 4-3.5THRU 4-3.5THRU
(For M3 bolt holes) (For M3 bolt holes) (For M3 bolt holes)

M Z-axis Bracket
A47-101

W Z-axis Bracket
A47-112

W Z-axis Bracket
A47-105

Z-axis bracket for motorized stage. Compatible stage

Z-axis bracket for motorized stage KXC06020/KS101-30

Z-axis bracket for motorized stage. Compatible stage

KS102-30, KS102-70. series. KS102-100
4-4.5THRU
4-4.5THRU
(For M4 bolt holes) For M4 b:)lit]oles)
3 | —
H ] 4-4.5THRU ¢8C'BORE 4.5 DP I
R ™ (For M4 bolt holes) ~
[ 4| le- YN
- 7
70| 45 1025 e —E s
16-M4 o i 10 25 " — A\
‘Ef M le ] Vg
> °  rap E=
e o= M > ol
e ¢§—m N ‘%7
[c] o
e Igf 3 : :]%:?_’
" Jet 4-m4 g =
. (E= o o . A
° ﬁ | o =4 °© 3 |
=0 bl U¢ i 4 l J ™| — l ; A - O" i Rl
a0 80 i i A &0 80
SPEC
Model ASS50Z-1 ASS60Z-1 ASB60Z-1 ASS70Z-1 A47-101 A47-112 A47-105
Material—-Surface finishing Aluminum-White alumite processing | - Aluminum-White alumite processing | - Aluminum-Black alumite processing | - Aluminum-White alumite processing | Aluminum-Black alumite processing | Aluminum-Black alumite processing | Auminum-Black aumite processing
Weight 0.2kg 0.2kg 0.2kg 0.3kg 0.6kg 0.22kg 0.67kg
Provided screws (Hex socket screws) 4 of M3—10 4 of M4—12 4 of M4—12 4 0f M3—12 4 of M4—16 4 of M4—12 4 of M4—16




M Z-axis Bracket
AZTB180A-390

Z-axis bracket for motorized stage. Compatible stage
KXS18100, KXS18200 and KXS18300

150

14-M6

390

+

75 50/50/50/50/50/50] |15

N_4-7THRU
(For M6 bolt hoes)

731554
TN

150
80

W Z-axis Bracket

A47-1040

Z-axis bracket for motorized stage. Compatible stage

W Z-axis Bracket
A47-1250

Z-axis bracket for motorized stage. Compatible stage

KX1040 KX1250
[@] &
T 1 A, 4-TTHRU,911C'BORE 7 DP
= S (For M6 bolt holes)
[ I AN
o | 212 74
90 | \ WGP 2712 61 R o 21
4-M4 (For M4 bolt holes) 24 - -
Pa—— T\ 6 _fo , 0°l3
° o |3 () o |38
S ¢ s
[ e - © o o |7
1 @ e
° ° i Eel 8 ) © 5 & I
Y ‘ 2 27
T 2 00 10150 | 50 |10 o 120
120

W Z-axis Bracket
AZTW60A-95

Z-axis bracket for motorized stage. Compatible stage
KXG06020 and KXG06030

[=]
[rsd

W Z-axis Bracket
AZTB60A-95

Z-axis bracket for motorized stage. Compatible stage

KXC06020

o
n

W Z-axis Bracket
AZTW60A-140

Z-axis bracket for motorized stage. Compatible stage

KXL06030, KXL06050 and KXL06075

4-4.5THRU @ 8C'BORE
~ (For M4 bolt holes)
)

0 =
N 4
b @r £y

| )|
435 THRU from the opposite, 6 C' BORE
(For M3 bolt holes)

4-4.5THRU¢8C'BORE T 4-4.5THRU®8C'BORE L34 ]
50 50
[ 50| (For M4 bolt holes) (For M4 bolt holes) 20 | 20-M480P_32 28
4-M4 8 DP 35 25 4-M48DP 35 25 M
A4-M4 8 DP
& ¥ B 3 ¥ B z
8 8 K
l o8 N S8 :
g g i 2
i o S it i ki 2 i T\ S
50 2 60 50 2 60 60
60 © 60 ©
SPEC
Model AZTB180A-390 A47-1040 A47-1250 AZTW60A-95 AZTB60A-95 AZTW60A-140
Material—Surface finishing Aluminum-Black alumite processing | - Aluminum-Black alumite processing | Aluminum-Black alumite processing | Aluminum-White alumite processing | - Aluminum-Black alumite processing | Aluminum-White alumite processing
Weight 5.58kg 1.04kg 1.80kg 0.36kg 0.36kg 0.72kg
Provided screws (Hex socket screws) 4 of M6—25 4 of M4—10 4 of M6—12 4 of M4—10 4 of M4—10 4 of M4—10

Goniometer

Rotary

Accessories

=z RNE x
Ny S9110SS300Y
g 8




I§EEIII —

ontal
XYz

Goniometer

Rotary

Accessories

| Manual Stage

Adaptor Plate

W Adaptor plate Wl Adaptor plate W Adaptor plate
A49-50B-1/A49-50 A49-50B-2 A49-70

This black adaptor plate is attached 40 x 40mm stage on This black adaptor plate is attached 50 x 50mm stage on a This is a white adaptor plate for attachment 70 x 70mm
a 50 x 50mm stage. 40x40 - 60x60 + 60 + H75mm stage. and 60 x 60mm stage.

3 White almite treatment for A49-50

4-4.5THRU¢8C'BORE 4.5 DP
(For M4 bolt holes)

4-3.5THRUG6C'BORE 3.5 DP 4-3 5THRUGBC'BORE 3.5 DP
{ForMabothoey WW
prep=to [ @qo ' 031 [ & _ ;[%
8-M3 ’\CD‘EN% ) QNS *J a
. |9 . 9 g g
6? 4 ?@ i %\@\_/@,J
L16 |16 L L1616 | sl
20 | 20 20 | 20
50 50
W Adaptor plate M Adaptor plate
A49-70B-1 A49-80

This black adaptor plate is attached 70 x 70mm stage on This black adaptor plate is attached 70x70mm on a
a 60x60 + 80x80 + 100x100mm « ¢75+ ¢100mm 80x80mm stage and ¢p75mm rotation stage.

For changing mounting
| E——
stage. + adaptor plate
. 4-4.5THRU8C'BORE 4.5 DP
8-4.5THRU®8C'BORE 4.5 DP
For M4 bolt holes) 5 For M4 bolt holes) -
&) 5 @
40 | RE
1= SIS
4-M4 VE
N g 4-M4
Ed A2
60 8
70 u
80
SPEC
Model A49-50B-1 A49-50B-2 A49-50 A49-70 A49-70B-1 A49-80
Main material-Surface finishing Aluminum-Black alumite processing | Aluminum-Black alumite processing | - Aluminum-White aumite processing | - Aluminum-White alumite processing | - Aluminum-Black alumite processing | Aluminum-Black alumite processing
Weight 0.05kg 0.05kg 0.05kg 0.11kg 0.11kg 0.13kg
Provided screws (Hex socket screws) 4 0of M3—8 4 0f M3—8 4 of M3—8 4 0f M4—8 4 0of M4—8 4 0f M4—8




W Adaptor plate
B05-A

Lower plate for dovetail stage B0O5-11NHM,
B06-11M,B05-41NM,B05-21KM

4-4.5THRU¢8C'BORE 4.5 DP

4-M3 (For M4 bolt holes)

W Adaptor plate

B06-03A

Lower plate for dovetail stage BO6-11BM

4-4.5THRU®8C'BORE 4.5 DP

(For M4 bolt holes)

2-M4
3
g
60
SPEC

Model B05-A B06-03A A49-A

Main material-Surface finishing Aluminum-Black alumite processing | Aluminum-Black alumite processing | - Aluminum-Black alumite processing
Weight 0.05kg 0.10kg 0.09kg

Provided screws (Hex socket screws) 4 0f M4—6 4 of M4—6 4 of M4—10

I Spacer (160 for optical axis height matching
A49-A

Lower plate for dovetail stage B05-11BM

4-4.5THRU¢8C'BORE 4.5 DP
(For M4 bolt holes)
4-M3

Goniometer

Rotary

Accessories

=z RNE x
Ny S9110SS300Y
g 8




